
 

 

R&G Racing 

Unit 1, Shelleys Lane, East Worldham, Alton, Hampshire GU34 3AQ. 

Tel: +44 (0)1420 89007 Fax +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com 

PAGE 1 OF 7 DG0035 

Picture A Picture B 

FITTING INSTRUCTIONS FOR DG0035 DOWNPIPE GRILLE 

YAMAHA YZF-R25/R3 2019- 

DIGITAL COPIES OF THESE INSTRUCTIONS ARE AVAILABLE FROM:  

 WWW.RG-RACING.COM 

THIS KIT CONTAINS THE ITEMS PICTURED AND LABELLED OVER PAGE. 

SOME PARTS MAY BE SHOWN FOR CLARITY OF INSTRUCTIONS ONLY. 

DO NOT PROCEED UNTIL YOU ARE SURE ALL PARTS ARE PRESENT. 

PLEASE READ ALL INSTRUCTIONS BEFORE PROCEEDING. 

 

PLEASE NOTE THAT THE WAY THE KIT IS PACKED DOES NOT NECESSARILY REPRESENT THE WAY OF 

MOUNTING TO THE BIKE. 

IN THE EVENT OF RUBBER WASHERS BEING USED TO HOLD COMPONENTS ONTO BOLTS,  

THESE RUBBER WASHERS CAN BE THROWN AWAY. 



 

 

R&G Racing 

Unit 1, Shelleys Lane, East Worldham, Alton, Hampshire GU34 3AQ. 

Tel: +44 (0)1420 89007 Fax +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com 

PAGE 2 OF 7 DG0035 

TOOLS REQUIRED 

• 10mm Socket and Wrench 

• 4mm A/F Allen Key 

 

 

GENERAL TORQUE SETTINGS 

M4 BOLT = 8Nm 

M5 BOLT = 12Nm 

M6 BOLT = 15Nm 

M8 BOLT = 20Nm 

M10 BOLT = 40Nm 

M12 BOLT = 40Nm 

LEGEND 

ITEM 

NO. 
DESCRIPTION QTY 

ITEM 1 DG0035 DOWNPIPE GRILLE (FITTED WITH TOOL CLIP 1125) 1 

Picture 1 Picture 2 

Picture 3 Picture 4 



 

 

R&G Racing 

Unit 1, Shelleys Lane, East Worldham, Alton, Hampshire GU34 3AQ. 

Tel: +44 (0)1420 89007 Fax +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com 

PAGE 3 OF 7 DG0035 

FITTING INSTRUCTIONS 

• To make it substantially easier to fit the R&G Downpipe Grille, you should remove both the LHS 

and RHS fairings (please refer to owner’s manual for instructions if needed), making sure to 

disconnect the indicator connectors. 

 

• Loosen (do not remove) the radiator mounting bolts located on either side of the bike as shown in 

picture 1, using a 10mm socket.  

 

• Offer the downpipe grille (item 1) up to the bike so that the top edge sits just below the radiator, 

as shown in picture 2.  

 

• Gently slide the clip fitted to the downpipe grille over the downpipe as shown in picture 3. 

 

• If fitting alongside the R&G Radiator Guard (Product Code - RAD0205), slide the downpipe grille 

mounting slots over the replacement bolts, ensuring that they sit behind the radiator guard 

mounting tabs, and secure with a 4mm Allen key, as shown in picture 4.  

 

• If just fitting the downpipe grille, secure with the loosened OEM bolts, using a 10mm socket. 

 

• Refit fairings, ensuring that the indicators are functioning correctly before riding. 

 

ISSUE 1 - 03/09/2019 (FB) 

CONSUMER NOTICE 
The catalogue description and any exhibition of samples are only broad indications of the Products and R&G may make design 
changes which do not diminish their performance or visual appeal and supplying them in such state shall conform to the order. 
The Buyer acknowledges no representation or warranty (other than as to title) has been given or will apply to the Products other 
than those in R&G’s order or confirmation and the Buyer confirms it has chosen the Products as being of merchantable quality 
and suitable for its particular purposes. Where R&G fits the Products or undertakes other services it shall exercise reasonable skill 
and care and rectify any fault free of charge unless the workmanship has been disturbed.  The Buyer is responsible for ensuring 
that the warranty on the motorcycle is not affected by the fitting of the Products. On return of any defective Products R&G shall 
at its option either supply a replacement or refund the purchase money but shall not be liable if the Products have been modified 
or used or maintained otherwise than in accordance with R&G’s or manufacturer’s instructions and good engineering practice or if 
the defect arises from accident or neglect. Other than identified above and subject to R&G not limiting its liability for causing 
death and personal injury, it shall not be liable for indirect or consequential loss and otherwise its liability shall be limited to the 
amounts paid by the Buyer for the Products or the fitting or service concerned. These terms do not affect the Buyer’s statutory 
rights. 

 

R&G RETURNS POLICY (NON-FAULTY GOODS) 
Returns must be pre-authorised (if not pre-authorised the return will be rejected). Goods may only be returned direct to us if 
they were purchased direct from us (customer must prove if necessary).  Otherwise to be returned to original vendor. Goods 
must be in re-sellable condition, in the opinion of R&G. All returns are subject to a 25% restocking and handling fee (25% of the 
gross value exc. P&P – at the prevailing price at time of purchase). The customer must pay any and all carriage charges. No 



 

 

R&G Racing 

Unit 1, Shelleys Lane, East Worldham, Alton, Hampshire GU34 3AQ. 

Tel: +44 (0)1420 89007 Fax +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com 

PAGE 4 OF 7 DG0035 

Photo A Photo B 

NOTICE DE MONTAGE DG0035 GRILLE DE PROTECTION COLLECTEURS 

D’ECHAPPEMENT 

NOTICE DISPONIBLE  AU TÉLÉCHARGEMENT SUR : WWW.RG-RACING.COM 

LE KIT CONTIENT LES ARTICLES EN PHOTO ET ETIQUETTES SUR LA PAGE 

LES PARTIES PRESENTÉES PEUVENT ETRE UNIQUEMENT REPRESENTATIVES POUR LA CLARTE DES INSTRUCTIONS 

NE PAS PROCÉDER AU MONTAGE AVANT DE VOUS ÊTRES ASSURE QUE TOUTES LES PIECES SOIENT PRÉSENTES. 

SVP, LIRE L’ENSEMBLE DE LA NOTICE AVANT DE PROCÉDER AU MONTAGE. 

 

LA FAÇON DONT LE KIT EST EMBALLÉ NE CORRESPOND PAS FORCÉMENT À LA FAÇON DE MONTER LES 

PIÈCES SUR LA MOTO . 

NOTEZ QUE SI LES KITS SONT EMBALLÉS AVEC DES RONDELLES EN CAOUTCHOUC SERVANT À TENIR 

LES COMPOSANTS, CES RONDELLES DOIVENT ÊTRE JETÉES. 



 

 

R&G Racing 

Unit 1, Shelleys Lane, East Worldham, Alton, Hampshire GU34 3AQ. 

Tel: +44 (0)1420 89007 Fax +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com 

PAGE 5 OF 7 DG0035 

OUTILS REQUIS 

• Clé à cliquet + douilles 10mm 

• Clés Allen 4mm 

 

 

VALEURS DE SERRAGE 

M4 BOULON = 8Nm 

M5 BOULON = 12Nm 

M6 BOULON = 15Nm 

M8 BOULON = 20Nm 

M10 BOULON = 40Nm 

M12 BOULON = 40Nm 

LEGENDE 
ARTICLE 

NO. 

DESCRIPTION QTE 

ARTICLE 

1 

DG0035 GRILLE DE PROTECTION (MONTE AVEC OUTIL CLIP 1125) 1 

NOTICE DE MONTAGE 

• Pour faciliter considérablement l’adaptation de la grille de protection R&G, vous devez retirer les 

carénages gauche et droit (veuillez vous reporter au manuel d’utilisateur pour les instructions si 

nécessaire), en veillant à débrancher les connecteurs de clignotant. 

 

• Desserrez (ne pas enlever) les boulons de fixation du radiateur situés de part et d'autre de la 

moto, comme indiqué sur la photo 1, à l'aide d'une clé à cliquet + douille 10 mm.  

 

• Placez la grille (article 1) sur la moto de sorte que le bord supérieur se trouve juste en dessous du 

radiateur, comme indiqué sur la photo 2.  

• Faites glisser doucement le clip fixé à la grille de protection sur le collecteur, comme indiqué sur la 

photo 3. 

• Si vous le montez le long de la protection de radiateur R&G (code de produit - RAD0205), faites 

glisser les fentes de fixation de la grille sur les boulons de remplacement, en veillant à ce qu’ils se 

trouvent derrière les pattes de fixation de la protection de radiateur, puis fixez à l’aide d’une clé 

Allen de 4 mm, comme indiqué sur la photo 4. 

• Si vous installez simplement la grille de protection, fixez-la avec les boulons d’origine desserrés à 

l'aide d'une douille de 10 mm. 

• Remettre en place les carénages en s'assurant que les clignotants fonctionnent correctement avant 

de rouler. 

 



 

 

R&G Racing 

Unit 1, Shelleys Lane, East Worldham, Alton, Hampshire GU34 3AQ. 

Tel: +44 (0)1420 89007 Fax +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com 

PAGE 6 OF 7 DG0035 

Abbildung A Abbildung B 

MONTAGEANLEITUNG FÜR DG0035 KRÜMMERSCHUTZGITTER 

YAMAHA YZF-R25/R3 2019- 

 EINE DIGITALE VERSION DIESER MONTAGEANLEITUNG KANN AUF  

FOLGENDER SEITE HERUNTERGELADEN WERDEN:   

 WWW.RG-RACING.COM 

Alle Kit-Teile sind unten abgebildet und gekennzeichnet  

Die abgebildeten Teile dienen lediglich zur Erklärung.  

Überprüfen Sie zuerst, dass alle Teile vorhanden sind.  

Lesen Sie die Montageanleitung komplett durch, bevor Sie anfangen. 

 

WENN SIE BEI DER MONTAGE DIESES PRODUKTES UNSICHER SIND , BITTE EINEN  

UNSERER HÄNDLER KONTAKTIEREN ODER DAS KIT VON EINEM QUALIFIZIERTEN  

ZWEIRAD-MECHANIKER MONTIEREN LASSEN. 

Die Verpackung der Teile stellt nicht die Reihenfolge der Montage dar.  

Hinweis für Kits mit Plastikunterlegscheiben an den Schrauben –  

Diese Plastik-Unterlegscheiben werden nicht für den Einbau benötigt! 



 

 

R&G Racing 

Unit 1, Shelleys Lane, East Worldham, Alton, Hampshire GU34 3AQ. 

Tel: +44 (0)1420 89007 Fax +44 (0)1420 87301 www.rg-racing.com Email: info@rg-racing.com 

PAGE 7 OF 7 DG0035 

SIE BENÖTIGEN FOLGENDES WERKZEUG 

• 10mm Steckschlüssel  

• 4mm A/F Inbusschlüssel 

 

 

ALLGEM. ANZUGSDREHMOMENT 

M4 SCHRAUBE = 8Nm 

M5 SCHRAUBE = 12Nm 

M6 SCHRAUBE = 15Nm 

M8 SCHRAUBE = 20Nm 

M10 SCHRAUBE = 40Nm 

M12 SCHRAUBE = 40Nm 

LIEFERUMFANG 

ARTIKEL

-NR.  

BESCHREIBUNG  MENGE 

ARTIKEL1 DG0035 KRÜMMERSCHUTZGITTER (MIT KLEMME VORMONTIERT 1125) 1 

MONTAGEANLEITUNG 

• Um die Montage des R&G Krümmerschutzgitters zu vereinfachen, entfernen Sie die 

Seitenverkleidungen an beiden Seiten (falls notwendig, bitte den Anleitungen dafür im Handbuch 

nachschlagen) - achten Sie unbedingt darauf, dass Sie die Verbindungen für die Blinker trennen. 

 

• Lösen Sie (nicht entfernen) die Montageschrauben für den Kühler an beiden Seiten des Motorrades 

wie in Abbildung 1 abgebildet — benutzen Sie hierfür einen 10mm Steckschlüssel.  

 

• Das Krümmerschutzgitter (Artikel 1) ans Motorrad ansetzen, sodass die obere Ecke knapp unter 

dem Kühler positioniert ist, wie in Abbildung 2 abgebildet.  

 

• Die am Krümmerschutzgitter vormontierte Klemme vorsichtig am Krümmer anbringen wie in 

Abbildung 3 abgebildet. 

 

• Wenn Sie den R&G Kühlerschutz (Artikel-Nr. RAD0205) gleichzeitig montieren, die Montageschlitze 

für das Krümmerschutzgitter über die Ersatzschrauben schieben, sodass sie hinter den 

Montagelaschen für den Kühlerschutz sitzen. Mit einem 4mm Inbusschlüssel sichern wie in 

Abbildung 4 abgebildet.  

 

• Wenn Sie nur das Krümmerschutzgitter montieren, die zuvor gelösten Originalschrauben mit 

einem 10mm Steckschlüssel befestigen. 

 

• Montieren Sie die Seitenverkleidungen wieder und überprüfen Sie, dass die Blinker 

ordnungsgemäß funktionieren, bevor Sie mit dem Motorrad fahren.  

 

AUSGABE 1 - 03/09/2019 (FB) 

 


